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1. Να παραγοντοποιηθούν οι παραστάσεις :  

I.  2  

II. xyxx 5105 3   

III. 23 963 xyxyyx   

IV. )3(5)3(2 axax   

V. zxyzxy 623   

VI.  xxx 1212010 2   

VII.   933 22  

VIII. 642   

IX. 22100 yx   

 

X. 2291 a  

XI.   22
912 yx   

XII.    22
123  yy  

XIII. 962  xx  

XIV. 442  zz  

XV. xyyx 602536 22   

XVI. 462 2  xx  

XVII. 1582  yy  

XVIII. aa 322 3   

 

 

2. Να παραγοντοποιήσετε τις παραστάσεις : 

i. by − ay + bz − az − bx + ax 

ii. αχ3 + αy2χ − βχ3 − βy2χ 

iii. 225𝑥2 − 9𝑦2 

iv. 3𝑥2 − 27𝑦2 

v. 𝛼𝑥2 + 𝑏𝑥2 − 𝑎𝑦2 − 𝑏𝑦2 

vi. 4𝑎3 − 4 − 16𝑎2 + 𝑎 

vii. (𝛼 − 2𝛽)2 − 25 

viii. xyxy  22 1  

ix.  6633 22  aa  

x. 25𝛼2 − 10𝛼𝛽 + 𝛽2 

 

xi. αx2 − 4βx2 − 5αy2 + 4βy2 

xii. (3𝛼 + 𝛽)2 − (5𝛼 − 4𝛽)2 

xiii. 𝛼𝛽2−𝛼𝛾2 

xiv. 𝑥2 − 𝑦2 − (𝑥 − 𝑦)(2𝑥 + 𝑦) 

xv. βχ − αβ − χ2 + αχ 

xvi. 𝛼3 − 𝛼 

xvii. 1235  xxx  

xviii. 43224 yxyyxx   

xix. 9𝑥2𝑦2 − 6𝑥𝑦 + 1 

 

 

 

 

 

 


